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Section A (30 x 2 = 60 MARKS )

For each p:m.m.mo: from 1 to 30, four options are given. One of them is the-correct

answer. Make your choice (1, 2, 3 or 4). Shade the correct oval {(1,2,3 0or4) on
the Optical Answer Sheet. .

1., The diagram below m:o.sﬁ acell.

-
-

What is thesfunetien of the partdabelled.Z?

(1) . ltgives the cell a-regular shape.

(2) It controls all activities in the cell.

(3) It contains chiorophylt which traps light energy.

(4) It controls substances that move in and out of the cell.

- The diagram below m:mém a .m_mm.ﬁ_émmmm_émi@a,.@zﬁ_m@%_m@@q.mms leaf on-a

‘plant:

sunrlight

<<Zo:o:wo::mﬁo__o.Em:@.@_ﬂag,ﬁ...mfd?%mzmﬁ ,doqm.%ﬁ._nmﬁqmwmzﬁmwuﬁn_....._m...,.mw.
and D - : - .

A ] B - c . D

(1)1 Sugar . . Water .Om&o:.&oxam... - Oxygen
@2 1 .._mc@m_, Carbori dioxidé ‘S_‘mﬁma : Qxé.m:
..Amv 5&9.; Carbon %.oxi@.. Sugar 1 .O.x<@.m:. _
@ | Water - Sugar | Oxygen - | Carbon dioxide, ]




3.  David s&%L@mmgﬁﬁﬁmwo&%@aﬁﬁwﬁﬁ@%@%@%@%m%@dwﬁﬁmw@ﬁ&..
Take*Pracs: He. intéends 8@@m@%@E#@E&%ﬁm@&ﬁﬁm@%&ﬁ@%@@%@ help
him in his inveéstigation. He uses 4=sin .mm%m_%ﬁ%mwm%zm._ﬂﬁm_m%ﬁawﬁmﬂm
.up. the investigation as shown in the.diagram below. Adlssetups™ares
@@@m@@%@wﬁ@%&%@ﬁrﬁ@x%@mﬁmmmﬂ%m@w%g??ﬂmrm%moma in the dark.

R e R R e e R R

 suright” _, sunlight

|- glassjar -

M- mwm_.ma.m: a
plastic bag

chemical

o
remove
carbon
dioxide

— toﬁma.n_m:w

| - chemical to remove
carbon dioxide

s
oA
e
J..__N_n.-.._. Qll\\\-

Which twe of the, m._uo<®,m@mmﬁ.w should-he use’f6 €4 ,tﬁﬁm.mﬂwmmmwﬁm@mﬁ

1) AandB

-2 . AandConly . . . : S

(3)- BandC only ; _ : o U ;
. (4) " CandDonly B ‘ _



4.

The a_mmqu cm_oé m:o.ém ﬁ:m%m:,.mg@wv_mnq

oo &

Plant A

‘The ?m@:ﬁma cell below is taken w_‘o:_ a certain part of plant A.

cell wall
cell membrane

starch

* “nucleus

. _ﬁ_m om: mwo<m _m _mmm?:xw._. .8;:m.<®$xm3&§5%m; .. o?.:m
. .v_m:ﬂ : .

-

(2)

_x
3 Y
@ Z

<<r_or @:m of the 3:025@ mnmﬁmamsﬁm a@m@ggggmr@_aw@amso@@*
émﬁm_i@ﬁ_m:ﬂme

.ﬁ:. - mmmaw om::oﬂ mm::_:mﬁm.. - o

(2) - Ferttilization cannot take m_mom :

* ()" . Plant cells cannot be kept firm.
@) ‘m._mzﬂw <s= riot _um able to c.m:wu__.m.




6. .::m diagrams below mroé ﬂocﬁ pairs of moémqm A, B,C and D. The m%m%
mﬁoggm%mawﬁm?@??e__m?@nmﬁm,

Tren T

Which. E&i@?@.&@é@@ would am@mi%mgm_ m¢ﬂ&w§8ﬁ@.&%
(1) Aonly .
(2) AandB only.

@ C and Donly .

(4) - B,CandD on_<

7. A substane ,,Imwﬁ@@mmmag@:@:&mm@z%@wnm gif mﬁm%@mﬁ pefore -
reachingdhenueleus: <<:_n: of the 3:0&.:@ msos_m the eeriet J,o,a_mﬁe# :
ﬁmmm parts?

(1) Cell s.m__, oﬁov_mmﬂ Cell fnembrané. -
“(2) . Cellwall, celi membrane, cytoplasm.
3) Cell membrane, cell wall, cytoplasm.
{4) Celi Bm:.g.m:m oﬁo_u_mma omz ém__“



8.

. Norarecorded. :mq ocmmEm:o:m of ﬂﬂotn.e@%ﬁ%@m&@%ﬂ&:@@_: the
table below.

Organism ~ Observation
P Gives off oxygen
- Q Reproduce by spores
"R ‘Gives off carbon dioxide -
S Needs water and mineral salts

Based on the information given, which of the .ﬂo__os\m.:@ @m@.@g@mﬁm@%@.ﬁ

sdefinitelyaplant?
(1) Ponly
(2) Sonly

(3) PandRonly
(4) .v. R and Q only

-~ . !

FFive pupils observed the .pwummwﬁa%.@aw@uaﬂlm:& zmmﬁ@wagmmm@mm@mm..
They qmno_dma Emuﬁ oammEmco:m and conclusions in the table below.

Cytoplasm; riucleus, om__ .
- Ali membran Q o >:_Bm_ .
Mav Nucleus, celi wall, om:. - Plant
<. membrane, chloroplasts - . :
. Celt membrane, nucleus, . "
Emily chloroplasts Fungi
gwm Ling m”%ﬁ_“__ M_L_mmagdh:m.. cell wali, Plant
. -Celt membrane, cell wall, .
Nancy nucleus, cytoplasm Animal

<<_,__o: of Em ucn__m made the mraaﬂmﬂ dnz@:%@a@.

ﬁ: Al §m< and Mai Ling -
(2) " Ali, Emily and Mei Ling
(3). May, Emily and Nancy

(4 | Emiy, MeiLingandNancy ~ . . -




10. The table below shows the observations of 3-ebjeets; K.Y, m,zanm,
O.amm.émzo:
‘Object Come from plants? | Tumn iodine solution dark _o_gQV
X Yes’ - Yes
Y Yes No.
,|u. Z " .No No
E:_os one of the 8:925@ _nwﬁw shows maﬁ%mﬂ_%ﬁm@w@immﬁ,mf."m.._Mm_.w%“\mmn_wmu.
.kmmmw.\ve ) -
(I X Y ] zZ
(1) noodles bread salt
(2) potato sugar mushroom
13 banana rice beef .
1(4) rice flour prawn

11. The: a_m@qu ‘below mroém how-hloadravels il the hiiian-body.

~AITOWS >:_w L B HE m:mﬁimwamn:ﬁ theanovement of blood.

Sl TR

——

T _oémq _omlm of :6 _uon_<

=g .m..l..

.!.a 3Lt

-

Which arrow(s) in the above diagram isfaremgtcortect?

_ (1) . Bonly .
.- {2y - AandEonly
(3) -CandDonly
{(4) :B,DandFonly’



12

Which of the following shows the comectd5

iR T

ammad:Q@.ﬂéﬁﬁ&@%ﬁmgmﬂ@_mz%, .

(N

)

FoE

(3).

T

=

S

) \ pollination
ﬂmnm_mmﬁo.: . .. seed &mﬁmam_
4/ @m::m:.mmo: \
fertilisation

\

“pollination . germination

™ seed dispersal \

P _uo__m:mmo:
‘seed dispersal - germination

/ fertilisation \

mmmmwnmmmm_.mm_. .

fertilisation ; geimination

/ vo.:smmos_ \

> pollination




13.

14.

The diagram below shows how U,._ooa flows in certain:parts.efiehady.a.

“ﬂmiww%w%@#@%.w meal. i
lungs .
4 ,
L heart ’
e . ¥
. smail )
. X intestine <
" When-eompared é%wﬁm&*@.&% n¥+the.blood.in Xhas: .
(1) less carbon dioxide and less digested food .

{(2)° less carbon dioxide and more digested food
3y more carbon dioxide and less digested food
(4) more carbon dioxide and more digested food

?mac_mcm_osm:oém%m %@mﬁa.wﬁm%%wm%_mé%z%@fmn@_.
resfing:- c : : o

: Breathing Rates . .
. " People | Average Breath Per Minute |,
1 Babygirds - R . 38 -
6-year-old girds B 25°
6-year-old boys 25
[11-year-oldgitls ~ . 20
| Mothers . .. . 18 ’
from the m.%.o:jmmo: given, we can centludesthat -~ - .

(1)’ boys bréathe faster than'giris |
(2) .~ baby girs breathe faster than baby boys
{(3) -younger people breathe faster than older peopie...".

(4) . the higher the breathing rate the faster tie heart beats. - |

@ . .. .... | ,.. .‘ .|' ) . .



. 18,

16.

A7

<<:_or of the ﬁo__oé_:@ matter _m\m:w in H_._m«__mc_a»mw@n@o

(1)
(2)
(3)
(4)

When John %m_xm,ct a ,m:@@ rm@m-n@mﬁmzﬁ_m_

dew
mist
steam D
water vapour -

oOme

A only
AandBonly -
C and D only

B, C and D only

“2RELgY. m:a :#m energy is

converted-inte-kinetic- energy 'as he slides: down; The graph below shows
the changes+ eenergy-as-he slides down the. m__n_m._.,.

<<:_o:o:m oﬁ So *o__oé_:@ mm:.m,,@ﬁ:mm%z@m m.—..,oém.ﬂr.m.. @@_%m%_w.@@m%&._{%.
AR respectively? _— : :

. X - L . Y-
(1) Potential energy - . Height .
{(2) ‘Potential energy - - _Kinetic érigigy
(3) . Height v ~_Kinetic energy -
(4)

Kinetic energy 4 - Height

Which orm..o.m the wo__oémq._m...mm not a form of energy?-

(1)
@)

(3)

4

- Light

Sound
Friction

_Electiicity

0.




T

18. The balteries and Uc_Um,.m.@&w@%@dﬂ%ﬂ#@%&%ﬂﬁ@%&ﬁ@@_@%mﬂmg. .
- wddentical.- : A :

L [

P : |

circuit x

. _._._“I :

Gircuit Y . circuit Z

In which one of the above circuits, <<. X, Yand Z, E___.9%@@%&._,@%%43
~ferthedongeshperodobtime?® - .

(17 CircuitW
(2) CircuitX
(3) CircuitY
(4) CirctitZ

T



19. - lvan’s friend gave him an electric circuit consisting of a bulb joined by
wires to a battery and a-mystery object, X.

- The bulb lighted up when the circtiit was closed.

|
N -
.I@.I -
7 |

(X

When he changed the position o..ﬁ the mystery object as shown below, the
buib did not light up. .

_- o

T
“Which one of the following objects is.most likely to be object X?
(1) “Abub . - .
{2). - Abattery

(3)  Apapercdlip
" (4). A carbon rod

20. ' Four pupils, when asked fo give a statement about forces, gave the

following:
Aziz  :  Aforceis apush or a pull. . :
Ben . :  Aforce can be seen and felt. .

-Cathy : . Aforce can change the mass of m.a object.

_ Dollah - . > force can change the volume of air. . .

. (1) Azizonly . . o o -

. (2) Aziz and Dollah . o - i

. . .{(3) '~ Ben, Cathy and Dollah : .
I {4) Aziz, Cathy and. Dollah

Who made a correct statement? - o L

12




21.

Tom carried out an experiment with a pendulum as shown in the diagram

below. He lifted the bob to position-A an
then back to A..

‘Which o:m_o.ﬁ the following graphs shows the change in.poetentialfene J@a@w@w

d let it swing to position C and’

- thesbol as it swung from Ato C and then back to A?

A B C B
. . Position -

7

13 -

%) . (@)
= T =
.m "| |" - ] .m

@ [] -1 L] . @
G : : : 5
o : : : o
B C B A
Pasition .

(3) . )

= =

L= ST e ———— T am—m=T AT a=.

S D : : ' ' <

52 : 1 : s I

a @ . T ‘ ‘ a

energy

lmmw—swaen

L]
L
1
[}
L]
1
t
1
Ll

R S

B

C

R s

gy

B °C

Position



22,

wrms_: set up the _no__oi_:@ electrical circuits to find out if materials, _u D
R and S could conduct electricity.

He recorded his observations in the table below.

B

2

Bulb Did the bulb light up?

A A - Yes - .
B “No

C. Yes
D No .
E " Yes

Electrical conductors Electrical insulators
(1) P.Q RS .
(2) .S . P.Q, R
{3) P,Q,R S
(4) Q PR S

..._h,“.

~ From the o_umm_dmmo.:m. which one of the following uqo:_vm:@w is correct?




23.  The graphic organizer ‘below shows'the conversion of m.ﬁoﬁm@ to other”

forms of energy; A, B, C and D, by some household electrical appliances.

-~

* Electrical Energy

| ..mm converted by

u P 1
' ceiling fan || electriciron fighit bulb
to  to o |to
‘ ¥ Y
c | D
identify energy A,B,CandD.
| A B c D
(1 “kinetic ‘sound heat light
@) | - kinetic potential light heaf
(3) ‘sound chemical heat light
(4) heat light sound kinetic

24, A spring émm- stretched when different Emmmzm...émqm hu
length of the spring is recorded in-the table below. .

Weight

20g | 40g

80g

100g

Length'in cm 8 10

14

16

ng from it. The

What is the. oxﬁm.:,mmo:”o,.n the spring when a 50-gram weight is .:c.:m_ from :.@.

¢

2)

(3)
(@)

5cm
6cm -
11 cm

) 12 cm -

15



25.

The %.mmq.m,a below shows a pop gun.

plunger

a pop gun . wet paper ball.

When the pluriger of n_.d._m. pop gun is pushed, the air in m:m,u_mmm. tube will
force the wet paper ball out. Which form(s) of erfergy does/do’ the

‘compressed air have?

A Heat energy
B Sound energy
C Kinetic energy )
D Potential energy. -
(1) -Bonly .
.. (2) Donly

(3) BandConly

"(4) A Band Conly




- 26, A m«oov of .mﬂcamsﬁm.dcﬁ the-following model to demonstrate breathing in a
human body.-

glass tube

| glass jar

bailoon

rubber sheet tightly
fixed to glass jar

Which of. the *o__os._:@ statements Qmmozcm why the above is pot an

‘acourate model to show the action of breathing when the rubber sheet is
pulled dowin?-

A The _.:o<m3m=~ of the ribs is not shown during breathing. -

B The movementof diaphragm is not shown during breathing. -

‘C The cm__oo:m do not inftate when'air is drawn in m:::@ breathing.

D The glass jar om::oﬁ be enlarged Esm: airis anms.: in during w:wmﬁs_:@

‘(1) AandD only . j ,
(2) . CandDonly :
3 AB and C only ‘ . )
A > Cc m:a _u o:_< h

: .



.NN The diagram below shows a simple electric bell, -

hammer

N switch
iron bar ._.

—= U%ﬁé

steel core

.r“.

1

Which one of the following shows the energy changes that occur in the
correct order when the cireuit is cloged?

(1) ° electrical energy > sound energy > kinétic energy > magnetic
energy :
(2}  electrical energy > magnetic energy = kinetic energy - sound
] energy . S o
(3). potential energy —> electrical energy -> kinetic energy - sound
. . energy - o
(4)  potential energy > electrical energy. - {magnetic enefgy - sound
energy o .

18




- 28. . w.E@ the w_mmmmmnmmo: table below carefully.

-~

Zmﬂmnm_m.

_ -
o

Group A I ~ Group B

1 ron 1 o Rubber
o Steel r Plastic
_ Nigkel . -1 - | | Glass

Copped S N Wood -

How are the materials iri the table above classified?

: “Group A - Group B
(1) | Magnetic L Non-magnetic =
(2) | Conductor of heat ‘Non-condugctor of heat
(3) | Conduttor of electricity i 1 Insulator of €lectricity.

(4) | Non-metal : Metal

29.  Which one of the ﬁo_.ﬂoé:@ graphs .m?.us.w the correct relationship _umﬂamm:
the amount of kinetic energy an-object has and the speed of the object?

&) o A R O o~
2 R : : o
uy- @ ) 4y O
o C (& I on)
E 2 €2
<X N\, L= .
Speed of object o " Speed of object
® oz @ 51
o I ot O c
z 2 r=
2= 35
E2 €2
<L 2 o <X A _
- Speed of object " Speed of object

19



30.

retort stand

m.E% the diagram below carefully.

L [s]

_’ 1

‘magnet

| paper clip

string

-

What conclusion can we aﬂmé from this experiment?

(1)

(2)
(3)

@

]

Z_.Uo_m is the' strongest.

A

B Like poles repel and unlike poles attract.

C Magnetic force can act from a distance.

D Magnetic force acting on 9@ paper clip is stronger ”:m_._ the
.@qmsﬂm:o:m_ force.

A only

C only .

C and D only

AB,CandD - B

~ ~~End of Section A ~~

20
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Section B (40 marks)

For questions 31 to 44, write your answers in this booklet. :
The number of marks available is shown in brackets [] at the end of each question or part
question,

-

31.  Eddy set up the experiment below in a dark-roony,

sealed end of

syringe
VTR _ Qmm
. dislance w<~.=.._@m
from
lamp
~ glass jar
<
, N |
table lamp \ water plant

He placed the table-lamp at a distance of 15 icif from fihé glass jar: ‘After orie hour,
he (GFEZREH! that the syringe#hjad collected 5 cm® of gagt He repeatéd; the

experiment by placing thelamp at distancesrel20uiniies agiviand - 30 iFdm the

‘glass jar; .
(a). Whatwas the.aiim: of his experiment? : : (11

(b) . Eddy found that fi& dmotntiof the- nwmmn%wﬂm@_smmaﬁmqm.% when the lamp
was at mmaﬂmﬁmm»ammﬁm:ommﬁsa the jar. What pattern-would he observe? '[1]

i
[
i

 afnount of gas coilected:

i A L .wu.

ant .of gas céllectedfin the

tare of thelwaitér in the jar willia
@ ofher factors! that will affect the. amo

@)

bt b

above mxmmmSmE. A L 2]

()
(i)




32. The diagram below shows an orchid plant and a bird’s nest fern.

(a)

(b)

- Orehid Bird's nest fern

How are they differeat in their fnethods of reproduction? {1l

Name another group of organisms that reproducesiin the same wayias the

‘Bird's nest fery (1]




33.  The diagram below shows Emim,ﬁm_onua.mzn of a‘human embryo;

Process A Cell division
R + a " P ", e
sperm ovum
, embryo .
(@) Identify-Process A. . ]
(b) Process A in the development of a hurhart being?is differenffrom the Process
Ainthe n_m<mmouv3m:~ ofa m.@m.m_: what way are they different? 2]

34.  The diagram below.shows the various states of water.

; ice-
X [ . _ Y
steam water water vapour
W z —
condensation. . |
(@) What process does arrow Ewmnﬂmmmamc . . 1]
(b) Inwhatwayis process Ygsimilar to ‘n.ﬁ..@.mmmm. z7 - ,E

-




wm.. Study the family tree of John below. The famil

either tongue roliers or non-tongue rollers.

Based on the family tree above, state
True, False or Not Possible to Tell '§

John

y tree shows the members who are

| Key

B male tongue
roller

©® female tongue
roller

1 male non-tongue
roller

O female non-
tongue roller

whether each of the following statements is
NP). Put a fick () in the appropriate boxes.

2}

mﬁmﬂm.q:m:w

True False | NP |,

John's parents are tongue rollers.

All the uncles of John are fongue rollers.

John's mother.has a m%mﬂmq who is a tongue roller.

Al least one of John's children will be a tongue roller.




36. Nathan pushed two loads, A and B, of _ﬂ:m“m.wmw:»m mass Eu to the same height usingr
two ramps, P and Q: The two ramps had the same angle of inclination, Y°. (e
observed that he needed more effort to push laad B than load A

(@)

load A

ramp P : , ramp Q

Give one possible reason why a‘greater effort was needed to gush load B
than load A [1]

State hwo forces' that were acting én thefload$ as they were ‘being pushed
up the ramps _ [2]




37.  The diagram below shaws the various stages involved in the generation of electricity’

igia power station. State the change of energy at the part marked Aand B. . 21

~ turbine

sleam —— . B

generator

flame

boiler

Part A _

Part _w“”.ﬂ

38. The diagram below shows a paper spiral :c:@wo: aretort stand! When a-lit candle is
placed directly under the paper spiral as shown in the diagram; the spiral will spin.

|

paper spiral

candle |
|
(a) Explain what causes the paper spiral to mum.:-. o - 2]
A, — ]
(6) What fype of energy does the'¢andle possess? - 1]




39.

A group of students carried out an experiment with 3 rectangular boards of different

surfaces, P, Q and R. A wooden block was made to move over the 3 different
surfaces as shown in the diagram below.

nail

rubber band

wooden U__o_ox

The results are recorded in the table below.,

Surface Distance moved by the wooden block
P : .25 ¢cm
Q 16 cm
R 31 em
(@) érmﬂ is the aim of this mxnmzim:@ . {1]

:

(b)  Based on the results recorded, E:mmmo_,._w_:mﬂﬂ_ can they drawfhbout the-

Surfaces of the boards? [2]




40.

R e

May carried out an experiment with a ping pong ball and a tennis ball. Stie dropped

‘the balls from a cerfain hieight which she called the dropping, height, and measured
‘the height which, the balls boanced up which she called the bouncing:height. She

RS s (VR g

repeated the experiment several times and plotted the graph as shown below.

-

X tennis ball

Y ping pong ball

Average bouncing helght (cm)

Dropping height (cm)

(a) | Why did she fepeat the experiment several times?, - m

(b) The two lines in-the graph meet at paint P: What does it mean? {1

() What can you .mm< about the two lines, X and Y befare: mma..m:mq point
- P? . . - @A




41.  Judy placed a glass of cold oran
shown in the diagram below
Y, respectively. .

ge juice and a glass of hot tea on the table as
She covered both glasses with similar metal lids, X and

lid Y |
AN S

-

. “hot tea
cold orange juice

o

Aftter five minutes, sheffotmg:

waterdroplét§iformed on both the lids.

T e

(a) Show, by drawing on the diagram, the water droplets that formed on lid X and
hd Y. : 2]

{b) Explain’ clearly why. water droplets Ewnm formed on metal lid Y. [2]

10




42. James set up an mx_um::_m% as shown'in =..m diagram below. He released a bead, a
marble m:a a métal ball of the same size ?oB the ﬁon of 3 _Qm::om_ ramps.

bead metal ball -marble

.The mxvm:ﬂm:ﬁ was carried out three a:_mm for each of the objects. The times ﬁmxm:
for the object to reach the floor are’ recorded i 5 Em ﬁm_u_m below.

Object . " Time taken (sec) .
15 Try 2 Try R Average
Bead . 3.3 ) 3.0 . 3.6 3.3
‘Metal ball _~ 16 1.8 14 - | -16
Marble =~ | 1.9 2.4 1 43 2 2.2

(a) . The erm taken for each ow__mo_“. to reach the floor are different in the three -
Smm Give one, vomm&.m qmmmo: for this. _ . 11

{b) ~Based on the results, one of the objects always reéachedthe floor first: Which
is the object? - : R I

R ()] .m.ﬂmﬁ.m one possible reason why the .oEmQ in Q& reached the floor first. (11

(d) . <<o:_a fhe results {s be different.if he :ma used wcnnonm :._mam of &mm_.m.:» o
Bmﬁmzm_mo Explain <ocq m:mémh . . 1




43.  The graphbelow shows the changes in temperature when m_oo, ml of waterin a
beaker was heated over aflame and then allowed to cool.
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Based on the graph above, state whether each of the following statements mm. .J.:m.

False or Not possible to tell. Put a tick (v) in the correct box. [2]
Stateients | True [Faise . Not
v possible
to tell

(@ |The ?mﬁm_. gained heat at-phase BC. R

(b) - | Steam was formed at phase AC.

ﬁov_om.émmmaamn_,ﬂoHsmémﬁ@ﬁmﬂurmmm
CD. L
-~ (d) Phase EF shows water at its solid state.

12




.44, Study the circuit diagram below carefully.

he
24

Connect the batteries and the bulbs below o form the circuit aqummm:ﬁoa byt
circuit diagram above. . ,

~~ End Qﬂ.._.um.nwﬂ ~— S







EXAM PAPER 2010

SCHOOL : CHIJ PRIMARY

SUBJECT : PRIMARY 6 SCIENCE
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31)a)He is trying to find out whether the distance of the lamp affect the

amount of gas collected.

will be collected.

‘©)i)Thenumber of leaves the plant has

i) The amount of carbon-dioxide in the water.

32)a)The orchid reproduce by seed but the bird’s nest fern reproduce by

spores.

33)a)Fertilisation..

b)Fungi.

b)Human goes through internal fertilisation but a frog fertilise from
external fertilisation.

34)a)The process is condensation.
b)The both processes need heat to take place.

35)1)F

2)T

3)T 4)NP

36)a)Load B is rougher than load A.

b)i)Frictional force.

ii)Gravitational force.

37)A: Chemical uo.nm:m& energy—> Heat + Light energy.
B: Kinetic energy-> electrical energy.

-- Pagelto2

b)He could observe the further the lamp is, from the glass jar the lesser gas
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38)a)Because hot air rises and cause the paper spiral to spin.
b)Chemical potential energy.

39)a)The aim is to see whether the different surfaces affect the distance
moved by the wooden block.
b)The can surface R is the smoothest while surface Q is the roughest.

40)a)To minimise human error.

b)When the two balls are dropped from that particular height bounce up
to the same height.

c)Before point P, the ping pong balil bounces higher than the tennis ball
bounces higher than the ping pong ball when the are dropped from the same
height. :

hbmv ”

b)When water vapour from the hot tea touches/comes into contact with
the cooler inner.

42)a)The point where the object was realised was not the same.

b)It is the metal ball.

c)Because the texture of the metal ball is smoother than the texture of the
other object.

d)There will be no difference as the height of the ramp is still the same.

43)a)T b)F c)Not d)F

44)
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